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Part A

Section Id : 920906449
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 80
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906725
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090622671 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

Ud H g1 &9 g1 bW GG &1 A0St I e It T 39--30 gl W 91 38 U1
Frgrawn # i IudaAl ST I8l €1 gH & oH ddel SeH! §HI 81 8| SHHE U arel
@15 55 U, SaaTl dUS-aud S S B AR qred @i 1 I7®1 oMHR fhdl Ay
& WU-HAY H1-91 gl a1 o1, HH 9 9 & Fidb! 9 I Hig g1 @l O 7 o | dig
&1 ufdfad 81 o1 g1 &1 UG [ha1 O 381 4T IR HAUS &1 S 5841 @ 1 Bt Hifd H
el gardi

Sub questions

Question Number : 1 Question Id : 92090622672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3BT 1 g3

(1) QI8N (2) wdrdl 381

(3) W@y (4) =TS8 saTen 38
Options :

92090689601. 1
92090689602. 2
92090689603. 3
92090689604. 4

Question Number : 2 Question Id : 92090622673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SH B AGHIET§ -

(1) Sed (2) 3o
(3) wal (4) 3V
Options :

92090689605. 1



92090689606. 2
92090689607. 3
92090689608. 4

Question Number : 3 Question Id : 92090622674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT &1 THR B 8 4T UT?

(1) @ ga (2) e ufafEs
(3) AR & Wui Hom A (4) HYF ST
Options :

92090689609. 1
92090689610. 2
92090689611. 3
92090689612. 4

Question Number : 4 Question Id : 92090622675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fremawn # & grdt 82

(1) SfadaH (2) Nifd
(3) JIudaAl (4) o
Options :

92090689613. 1
92090689614. 2
92090689615. 3
92090689616. 4

Question Number : 5 Question Id : 92090622676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 4t am1 Ht T8 gardh

(1) e Pl 3T (2) SITTE B M
(3)  HAUS BT AW (4) 81 P 3T
Options :

92090689617. 1
92090689618. 2
92090689619. 3
92090689620. 4

Question Id : 92090622671 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ud H g1 &9 g1 bW GG &1 A0St I e It T 39--30 gl W 91 38 U1
Frgrawn # i IudaAl ST I8l €1 gH & oH ddel SeH! §HI 81 8| SHHE U arel
@15 55 U, SaaTl dUS-aud S S B AR qred @i 1 I7®1 oMHR fhdl Ay
& WU-HAY H1-91 gl a1 o1, HH 9 9 & Fidb! 9 I Hig g1 @l O 7 o | dig
&1 ufdfad 81 o1 g1 &1 UG [ha1 O 381 4T IR HAUS &1 S 5841 @ 1 Bt Hifd H
el gardi

Sub questions

Question Number : 1 Question Id : 92090622672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3BT T §aHT?

(1) dlsd sl (2) el 33l

(3) T MHIEY (4) SUSIH Tdren 38t
Options :

92090689601. 1
92090689602. 2
92090689603. 3
92090689604. 4



Question Number : 2 Question Id : 92090622673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o B dgHI TUE -

(1) o (2) 39
(3) g (4) 3T
Options :

92090689605. 1
92090689606. 2
92090689607. 3
92090689608. 4

Question Number : 3 Question Id : 92090622674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SATdl &1 SR B 8 747 UI?

(1) e gad (2) die &1 uffds
(3) HiR & @i Ham (4) USRI
Options :

92090689609. 1
92090689610. 2
92090689611. 3
92090689612. 4

Question Number : 4 Question Id : 92090622675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FyeTaen # = gt 22

S CEGE 2) wifd
(3)  JUddHl (4) ddAl
Options :

92090689613. 1



92090689614. 2
92090689615. 3
92090689616. 4

Question Number : 5 Question Id : 92090622676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 1 o Bt 78T gl

(1) Ie BI 3MFT (2) GITTE BT ST
(3) HIUg B M (4) swf @t 3m
Options :

92090689617. 1
92090689618. 2
92090689619. 3
92090689620. 4

Sub-Section Number : 2
Sub-Section Id : 920906726
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090622677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Tt | & a1y gt 1 &1 T ife

gl At
(A) el I =
(B) HUI () dgHd
(C) THSl TGRS
(D) ick (v) faezs

Hie fou e fadedl 7 9 9l IR &1 994 Hifo:

(1) (A=), (B)-(ll), (C)-(1), (D)-(IV)
(2) (A, (B)-(1), (O)-(V), (D)-(11)
(3)  (A)-(), (B)-(IV), (O)-(1), (D)-(11)
(4)  (A)-(IV), (B)-(1), (C)-(Iln), (D)-(11)

Options :

92090689621. 1
92090689622. 2
92090689623. 3
92090689624. 4

Question Number : 6 Question Id : 92090622677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | & a1y gt 1 &1 T ife

gl At
(A) el I =
(B) HUI () dgHd
(C) THSl TGRS
(D) ick (v) faezs

Hie fou e fadedl 7 9 9l IR &1 994 Hifo:

(1) (A=), (B)-(ll), (C)-(1), (D)-(IV)
(2) (A, (B)-(1), (O)-(V), (D)-(11)
(3)  (A)-(), (B)-(IV), (O)-(1), (D)-(11)
(4)  (A)-(IV), (B)-(1), (C)-(Iln), (D)-(11)

Options :

92090689621. 1
92090689622. 2
92090689623. 3
92090689624. 4

Question Number : 7 Question Id : 92090622678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 91y g4 1 &1 faE Sifoe

i gl i
L () gl
(B8 g ay fAfim
(C) o (y o4
(D) SHHd (IV)  sigll

=4 fau 7 fawedl § 9 981 SR &1 959 ST

(1 (A)-(V), (B)-(), (©)-( 1), (D)-(1)
(@) (A=), (B)-(1), (C)-(IV), (D)-(11)

(3)  (A)-(, (B)-(), (Q)-( 1), (D)-(1V)
(4) (A, (B)-(1), (O-( V), (D)-(I1)

Options :

92090689625. 1
92090689626. 2
92090689627. 3
92090689628. 4

Question Number : 7 Question Id : 92090622678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 91y g4 1 &1 faE Sifoe

i gl i
L () gl
(B8 g ay fAfim
(C) o (y o4
(D) SHHd (IV)  sigll

=4 fau 7 fawedl § 9 981 SR &1 959 ST

(1 (A)-(V), (B)-(), (©)-( 1), (D)-(1)
(@) (A=), (B)-(1), (C)-(IV), (D)-(11)

(3)  (A)-(, (B)-(), (Q)-( 1), (D)-(1V)
(4) (A, (B)-(1), (O-( V), (D)-(I1)

Options :

92090689625. 1
92090689626. 2
92090689627. 3
92090689628. 4

Question Number : 8 Question Id : 92090622679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l gt -
(a) E (1)  HIR
B) EI (I H
€ fexu iy e
o) s (v) afrar

At feu v faedi | 9 9el It &1 984 $ifvig:

(1) (A)-(V), (B)-(l), (C)-( 1), (D)-(11)
(2) (A, (B)-(I1), (C)-(lD), (D)-(IV)

(3) (A, (B)-(IV), (O)-( 1), (D)-(1)
(4)  (A)-(IV), (B)-(1), (C)-( ), (D)-(11)

Options :

92090689629. 1
92090689630. 2
92090689631. 3
92090689632 4

Question Number : 8 Question Id : 92090622679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l gt
(a) B () SR
B) Wl (i 7
© fem (i A
o) e (Iv) afa

414 fu v faedl & 9§ 9el 3T’ &1 994 $ifoiw:

(1) (A)-0V), (B)-(1), (O-( 1), (D)-(1)
(2) (A, (B)-(I1), (O)-(llD), (D)-(IV)

(3) (A=), (B)-(IV), (O)-( ), (D)-(1)
(4)  (A)-(IV), (B)-(1), (C)-( 1), (D)-(11)

Options :

92090689629. 1
92090689630. 2
92090689631. 3
92090689632. 4

Question Number : 9 Question Id : 92090622680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i wsdl 7 9 Y5 Wsg &1 999 B —

1) IR (2) WY
3 T© (4) TR
Options :

92090689633. 1
92090689634. 2
92090689635. 3
92090689636. 4

Question Number : 9 Question Id : 92090622680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fafeied wesl & 9 Y5 Wsg &1 999 Hifad —

(1 I (2) ST
3 W (4) sl
Options :

92090689633. 1
92090689634. 2
92090689635. 3
92090689636. 4

Question Number : 10 Question Id : 92090622681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 fou v wrsal F Srgrg o are wes § -

(1) THIYH 2) I
3) JUE (4) I
Options :

92090689637. 1
92090689638. 2
92090689639. 3
92090689640. 4

Question Number : 10 Question Id : 92090622681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 feu v weal A 3rgfg aciil aren Tee & -

(1) IY-FH 2) A
3 39§ (4) IWd
Options :

92090689637. 1
92090689638. 2
92090689639. 3



92090689640. 4

Question Number : 11 Question Id : 92090622682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I/ BT 909 HifoT -

(1) o9 3R THY GH IR ¢ | (2) SASRTPIUHIRAE |
(3) od SR gH U WA § | (4) o SR gH<] U I B |
Options :

92090689641. 1
92090689642. 2
92090689643. 3
92090689644. 4

Question Number : 11 Question Id : 92090622682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I BT 999 Hifow -

(1) od 3R I G A § | (2) AR IHI U I G |
(3) O SR ahd U Al g | (4) oF 3R TH UE T ¢ |
Options :

92090689641. 1
92090689642. 2
92090689643. 3
92090689644. 4

Question Number : 12 Question Id : 92090622683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y a1 &1 99 Sifeu —

(1) TWINGED 8| (2) SFWF 3FE AHE |
(3) P U ITANIIHE | (4) dTH 3R g1 TP °¢ WU il § |
Options :

92090689645. 1
92090689646. 2
92090689647. 3
92090689648. 4

Question Number : 12 Question Id : 92090622683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y[ 919 o1 99 Sifog —

(1) WHITED g | (2) HIHW & B AHE |

(3) dge UH IURI I © | (4) oY R TH) TP e W U1 Uit 8 |
Options :

92090689645. 1
92090689646. 2
92090689647. 3
92090689648. 4

Question Number : 13 Question Id : 92090622684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U8 9T &1 94+ Difod ol 9ishd T8l § -

(1) o3 $ad &9 ¥ud fid (2) W3 ¥9d AE
(3) HATUIUAE fd (4) T3 PHad 39 ¥9 HE Hd
Options :

92090689649. 1
92090689650. 2
92090689651. 3
92090689652. 4



Question Number : 13 Question Id : 92090622684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U8 9T &1 94+ Difod ol 9ishd T8l § -

(1) o3 $ad &9 ¥ud fid (2) W3 ¥9d AE
(3) HITHTULE A (4) HH Had aH TUY HE A
Options :

92090689649. 1
92090689650. 2
92090689651. 3
92090689652 4

Question Number : 14 Question Id : 92090622685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafeag o 8 el areg &1 9g4 Sifau -

(1) & 309 G S | (2) TH HUA HRHE H S |
(3) EHEH UM ST | (4) TH T HRIA ST |
Options :

92090689653. 1
92090689654. 2
92090689655. 3
92090689656. 4

Question Number : 14 Question Id : 92090622685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafeag o 8 el areg &1 9g4 Sifau -

(1) & 309 G S | (2) TH HUA HRHE H S |
(3) EHEH UM ST | (4) TH T HRIA ST |
Options :

92090689653. 1



92090689654. 2
92090689655. 3
92090689656. 4

Question Number : 15 Question Id : 92090622686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 e ®IF @1 gfd Sifo -

Y9 qides _ fs@d udi o

(1) @4 (2) a3
(3) TA-TF (4) 3Od
Options :

92090689657. 1
92090689658. 2
92090689659. 3
92090689660. 4

Question Number : 15 Question Id : 92090622686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

areg H Rad I &1 gfd Sifor -
geqxed _ faEdiyst i

(1) @a (2) TaF
(3) TWA-T (4) 3=
Options :

92090689657. 1
92090689658. 2
92090689659. 3
92090689660. 4

Question Number : 16 Question Id : 92090622687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W REE AT g 9d U= g |

(1) 3fgasl (2) e
(3 I (4) SHH
Options :

92090689661. 1
92090689662. 2
92090689663. 3
92090689664. 4

Question Number : 16 Question Id : 92090622687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WREEAT & U I T UT 8 |

(1) orgRex () oEW
(3) AR (4) SR
Options :

92090689661. 1
92090689662. 2
92090689663. 3
92090689664. 4

Question Number : 17 Question Id : 92090622688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DT e, &1 FHHR ez 781 2 -

(1) SR (2) YRR
(3) @R (4) T4
Options :

92090689665. 1
92090689666. 2
92090689667. 3



92090689668. 4

Question Number : 17 Question Id : 92090622688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DT e, &1 FHFHR ez 78 2 -

(1) SR (2) =R
(3) @i 4 I
Options :

92090689665. 1
92090689666. 2
92090689667. 3
92090689668. 4

Question Number : 18 Question Id : 92090622689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Weg, b1 [da@H Usg BT —

(1) 3™ 2) faeg
(3) TRIWd™ (4) SIS
Options :

92090689669. 1
92090689670. 2
92090689671. 3
92090689672. 4

Question Number : 18 Question Id : 92090622689 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) 3™ 2) faeg
(3) TTRNY (4) SIS
Options :

92090689669. 1
92090689670. 2
92090689671. 3
92090689672. 4

Question Number : 19 Question Id : 92090622690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Bel 90 TR & Hel 314 8 -

(1) 9HG WS A (2) dgdg & Higar gl
(3)  od & g A e (4) I & PR TR &I Bel
Options :

92090689673. 1
92090689674. 2
92090689675. 3
92090689676. 4

Question Number : 19 Question Id : 92090622690 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Bel 90 TR & Hel 314 8 -

(1) 9HG WS A (2) dgdg & Higar gl
(3)  od & g A e (4) I & PR TR &I Bel
Options :

92090689673. 1
92090689674. 2
92090689675. 3
92090689676. 4



Question Number : 20 Question Id : 92090622691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HiHAT Albifad B3 & -

(1)  &'a § b1 (2) USH & W Hib
(3) WA DI oGl (4) FEEREA
Options :

92090689677. 1
92090689678. 2
92090689679. 3
92090689680. 4

Question Number : 20 Question Id : 92090622691 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T HiHAT Albifad B3 & -

(1)  &'a § b1 (2) USH & W Hib
(3) WA DI oGl (4) FEEREA
Options :

92090689677. 1
92090689678. 2
92090689679. 3
92090689680. 4

Part B
Section Id : 920906450
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80

Section Marks : 320



Enable Mark as Answered Mark for Review and Clear

Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906727
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 92090622692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First Hindi Novel to win International Booker prize is Tomb of sand which is English
Translation of ‘Ret Samadh’, written by

(1)  Arundhati Roy (2) Rupi Kaur
(3 Geentanjali Shree (4) Kiran Desai
Options :

92090689681. 1
92090689682. 2
92090689683. 3
92090689684. 4

Question Number : 21 Question Id : 92090622692 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3feRIPTY gepR REPR Siia arer UuH Bl U=y ol o T3 &1 g 1 8, forget
T IR & SOl § Srarg far man g 7

(1)  3F5Ydi I (2) HUFHR
3y Taiafe s (4) favo Tard
Options :

92090689681. 1
92090689682. 2
92090689683. 3
92090689684. 4

Question Number : 22 Question Id : 92090622693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the first Indian origin British army officer to trek solo to south pole:

(1) Bachendn Pal (2) Harpreet Chandi
(3) Sangeeta Bahl (1) Jvoti Amge
Options :

92090689685. 1
92090689686. 2
92090689687. 3
92090689688. 4

Question Number : 22 Question Id : 92090622693 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafifad # 9§ S YR gd &/@! 36 siieR] g, S sidbd Sié 8§d R ugdl / ugd
qt?

(1) sdul urd (2) B S
(3) i Egd (4) S 3
Options :

92090689685. 1
92090689686. 2
92090689687. 3
92090689688. 4

Question Number : 23 Question Id : 92090622694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The empire in India responsible for laying the foundation of Nalanda University?

(1) Nanda empire (2) Mauryan empire
(3) Gupta empire (1) Magadhe empire
Options :

92090689689. 1
92090689690. 2
92090689691. 3



92090689692 4

Question Number : 23 Question Id : 92090622694 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd | {9 arurey 3 Areer fayfaemeay &1 snur - Brar @t 4

(1) g 9wnd (2) 1R T
(3) T HH (4) FTY HIHTT
Options :

92090689689. 1
92090689690. 2
92090689691. 3
92090689692. 4

Question Number : 24 Question Id : 92090622695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After approval the copies of constitution were photolithographed by:

(1) The Asiatic Society (2) National archives of India
(3) Archaeological survey of India (1) Survey of India
Options :

92090689693. 1
92090689694. 2
92090689695. 3
92090689696. 4

Question Number : 24 Question Id : 92090622695 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SFHIG & W1 A Bt wfdt 31 Fefiiad § @ e R - smmfza Rrn ar

(1) < URmEiees JHmEet (2) HRd DI AP HHTEITR
(3) R QR Fd&mr (4) W FA&m



Options :

92090689693. 1
92090689694. 2
92090689695. 3
92090689696. 4

Question Number : 25 Question Id : 92090622696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

44t Constitutional Amendment Act 1978 deals with:

(1) Right to freedom (2) Right to speech
(3)  Right to property (4) Right to voting
Options :

92090689697. 1
92090689698. 2
92090689699. 3
92090689700. 4

Question Number : 25 Question Id : 92090622696 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
44-ai Sy Feq fUfFan 1978 e Heafta 82

(1)  TEaAdl &1 UBR (2) HINOT B SHUFR
(3) R &1 HUPR (4) HdaH &1 HUPR
Options :

92090689697. 1
92090689698. 2
92090689699. 3
92090689700. 4

Question Number : 26 Question Id : 92090622697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 2005 Arundhati Roy was awarded for which collection of essays that were later
translated into Hindi under the Title “Nyaay ka Ganit”.

(1) The Algebra of Justice (2) The Algebra of finite Justice
(3)  The Algebra of Infinite justice (4) God of small things
Options :

92090689701. 1
92090689702. 2
92090689703. 3
92090689704. 4

Question Number : 26 Question Id : 92090622697 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31l AT &1 2005 H fy ey dUg & o REER e man o1, e §1g § =g &1
Tirg Sides & f&dl 7 srare fasan an

(1) €Ul e Sied (2) T Uduls 3 BIRARe oied
(3) & UeolEl 3 SprIse died (4) TiTE 3iTp WId i

Options :

92090689701. 1
92090689702. 2
92090689703. 3
92090689704. 4

Question Number : 27 Question Id : 92090622698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first Indian to cross English channel twice?

(1) Arati Saha (2) Mihir Sen
(3)  Bula Choudhry (4) Preethi Srinivasan
Options :

92090689705. 1
92090689706. 2
92090689707. 3
92090689708. 4



Question Number : 27 Question Id : 92090622698 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofafEd 3 9 oF 3w 39 $ &1 R UR & aidl UYH RO 87

(1) SRl Hen ) ffERE
(3) oA (4) foreht difaraa
Options :

92090689705. 1
92090689706. 2
92090689707. 3
92090689708. 4

Question Number : 28 Question Id : 92090622699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List I (Books) List I (Authors)
(A) Wings of Fire (I) Annie Besant
(B) Wake up India (IT)y A.P.J. Abdul Kalam
(C) Train to Pakistan (I1T) Chetan Bhagat

(D) The three mistakes in my hife  (IV) Khushwant Singh

Choose the correct answer from the options given below :

(1) (A)-V), (B)-(ID), (C)-(ID), (D)-(I)
(2)  (A)-(D), (B)-(D), (C)-(I1), (D)-(IV)
(3)  (W)-(0), (B)-(ID), (C)-(IV), (D)-(I1I)
(4)  (N)-(T), (B)-(D), (C)-(IV), (D)-(I1I)

Options :

92090689709. 1
92090689710. 2
92090689711. 3
92090689712. 4



Question Number : 28 Question Id : 92090622699 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1 &1 e ifeg

-l T -l
(a) I S BroY ) i fEe
(B) dd 34 SfEar () TUS. sfegad e
(C) ¢HA ¢ ulfbE () T WITd
) THRFEFIAE  (v) guddRig
GIERE

413 feu e faedi F 9 9l IR &1 994 P

(1) (A)-(IV), (B)-(ILI), (C)-(1D), (D)-(I)
(2)  (A)-(ID), (B)-(D), (C)-(I11), (D)-(IV)
(3)  (A)-(D), (B)-(ID), (C)-(IV), (D)-(11I)
(4)  (A)-(ID), (B)-(D), (O)-(IV), (Dy-(11T)

Options :

92090689709. 1
92090689710. 2
92090689711. 3
92090689712. 4

Question Number : 29 Question Id : 92090622700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first recipient of Jnanpith award 1is:

(1) G. Shankar Kurup (2) Damoder Mauzo
(3) Nilmani Phookan (1) Krishna Sobti
Options :

92090689713. 1
92090689714. 2
92090689715. 3
92090689716. 4



Question Number : 29 Question Id : 92090622700 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS AR Fauyy fed foan mar an

(1) Sl X FE (2) SR A=l
(3)  ArH0 B (4) PN el
Options :

92090689713. 1
92090689714. 2
92090689715. 3
92090689716. 4

Question Number : 30 Question Id : 92090622701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The G20 or Group of 20 1s an inter governmental forum comprising 19 countries and
European Union. It works mainly to address

(1) International financial stability
(2) Terrorism and territorial disputes
(3) Peace Prosperity and stabality

(4) Common interests and to cooperate on international forums

Options :

92090689717. 1
92090689718. 2
92090689719. 3
92090689720. 4

Question Number : 30 Question Id : 92090622701 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sil-20 A1 YU 31 20 UF SR-IWHRI #d g, s 19 3 iR gAg= gf-e afEid g
Tg gETa: fg W e 3 82

(1) Sl faxia wifda

(2) Sdarg 3R I — iy fare eReRaa fewues)
(3) wifa, 99ig ok =il

(4) WA fRd SR AP el R yed

Options :

92090689717. 1
92090689718. 2
92090689719. 3
92090689720. 4

Question Number : 31 Question Id : 92090622702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to 2011 census, the only Indian state that had decline in population
compared to 2001 census is:

(1) Nagaland (2) Manipur
(3) Kerala (1) Sikkim
Options :

92090689721. 1
92090689722. 2
92090689723. 3
92090689724. 4

Question Number : 31 Question Id : 92090622702 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2011 & SFIUFT & SR HRA &1 98 UHHE A9 DI &, D 2001 & SHI0UAT $
qa # SEe § RGeS 87

(1) RIS (2) WO
(3) @@ 4) fafden

Options :



92090689721. 1
92090689722. 2
92090689723. 3
92090689724. 4

Question Number : 32 Question Id : 92090622703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The only gland in the human body that can regenerate it self if part of it 158 removed
15 called:

(1) Adrenal (2) Thyrmd
(3) Liver (1) Pancreas
Options :

92090689725. 1
92090689726. 2
92090689727. 3
92090689728. 4

Question Number : 32 Question Id : 92090622703 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHd IRR ® 39 USHHE U &1 71 $81 9] &, fodd U 41 &1 g2 R 98 39 &I
Uil (9: I= 8 B Tl 57

(1) siftges Efgaa) (2) AU (UT5TS)
(3) TFd @R (4) TE (OfHUE)
Options :

92090689725. 1
92090689726. 2
92090689727. 3
92090689728. 4

Question Number : 33 Question Id : 92090622704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wilted flower revive in fresh water, plants can absorb water from the soil. These are
examples of which phenomenon:

(1) Surface Tension (2) Capillary action
(3)  Viscosity (1) Osmosis
Options :

92090689729. 1
92090689730. 2
92090689731. 3
92090689732. 4

Question Number : 33 Question Id : 92090622704 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIAU Bl drell Sl # Yeiiiad gid € Uey Hal ¥ ofd 9 9&d ¢ 3 fy uRgen &
JaATE § ?

(1) Y58 —aHMd (9hY ¢3F) (2) S foban
(3) SO (sl (4)  OITEIOT (S{EHEITREE)
Options :

92090689729. 1
92090689730. 2
92090689731. 3
92090689732. 4

Question Number : 34 Question Id : 92090622705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

List I List I1
(A) World's first space station () Pioneer 10
(B) First Satellite launched by America. (II) Salyut 1
(C) First spaceeraft to fly-past mars (I1I) Explorer 1

(D) First spacecraft to fly-past Jupiter (IV) Mariner 4

Choose the correct answer from the options given below :

(1) (A)-(11), (B)-(11D), (C)-(IV), (D)-(I)
(2)  (A)-(ID), (B)-(1), (C)-(IV), (D)-(I)
(3)  (A)-(D), (B)-(IID), (C)-(I), (D)-(IV)
(4)  (A)-(IV), (B)-(I11), (C)-(1I), (D)-(I)

Options :

92090689733. 1
92090689734. 2
92090689735. 3
92090689736. 4

Question Number : 34 Question Id : 92090622705 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G | & Wy g 1 1 fraE i

- gl -l
(a) Ty &1 uyH Siaie wIH () UEIEER 10
(B) SMHNT gRI Y& 3UUs (i) HGE 1
(C) WA HIRNISHHETE@ () TR 1

TUH Sidaftes

(D) QSHA YA @ gyH A& aE  (1v) AR 4

Hid 3 7t fadedl # ¥ "l 3R &1 99+ Hifeie:

(1) (A)-D), (B)-(I), (C)-(IV), (D))
(2)  (A)-(ID), (B)-(IL), (C)-(IV), (D)-(I)
(3)  (A)-(ID), (B)-(I1L), (C)-(I), (D)-(IV)
(4)  (A)(IV), (B)-(ILI), (C)-(I), (D)-(D)

Options :

92090689733. 1
92090689734. 2
92090689735. 3
92090689736. 4

Question Number : 35 Question Id : 92090622706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The NATO headquarters are situated on which city of Europe?

(1) London {(2) Paris
(3) Brussels {4) Switzerland
Options :

92090689737. 1
92090689738. 2
92090689739. 3
92090689740. 4

Question Number : 35 Question Id : 92090622706 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A1E] (NATO) &1 HBITad 319 & g wree o fRyd &7

(1) oA (2) GR™
(3) go (4) fReords
Options :

92090689737. 1
92090689738. 2
92090689739. 3
92090689740. 4

Question Number : 36 Question Id : 92090622707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nephology 1s a branch of meterology that deals with the study in the atmosphere.

(1) Water vapours (2) Pollutants
(3) Clouds (1) Germs
Options :

92090689741. 1
92090689742. 2
92090689743. 3
92090689744. 4

Question Number : 36 Question Id : 92090622707 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NufayF Hrey-fagE 1 te IEr g, & agded § e ey 8 wEitd 82

(1) EREILE (2) UgHd
3) @ (4) e G7)
Options :

92090689741. 1
92090689742. 2
92090689743. 3
92090689744. 4



Question Number : 37 Question Id : 92090622708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List I1 :

List 1 List 11

(A) Vishakhapatnam Port (I) Is a natural harbour situated at the head of
queen of Arabian sea

(B) Paradwip Port (IT) Is a land locked harbour

() Kandla Port (III) Has deepest harbour and is situated in
Mahanadi delta

(D) Kochchi Port (IV) Situated at the head of Gulf of Kuchchh

Choose the correct answer from the options given below :

(1) (W)-(V), (B)-(D). (C)-(11), (D)-(I1I)

(2) (A)-(ILI), (B)-(1I), (C)-(IV), (D)-(I)
(3) (A)-(IL), (B)-(I1I). (C)-(IV), (D)-(I)
(4) (A)-(IT), (B)-(I1I), (C)-(I), (D)-(IV)

Options :

92090689745. 1
92090689746. 2
92090689747. 3
92090689748. 4

Question Number : 37 Question Id : 92090622708 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ay g | BT e Sifo

-1 gt
A) fagrEmETy () TP UIHad Uiyl 8, ol 3" 9 &1
FHE AR RG R
(B) URIGY daume () TP Y-3fEs Ui g |
(C) ied de3E (1) SifEEdH e UlaIyd g SR HeHal
Er g AR g
(D) HifEA daTe V) FE DI TS S AN RATE |

At feu e fdeedl # 9 9l IR &1 994 B

(1) (A)-(IV), (B)-(D), (C)-(IL), (D)-(ILI)
(2)  (W)-dID, (B)-(D), (C)-(IV), (D)-D)
(3)  (A)-(D), (B)-(IID), (C)-(IV), (D)-(D)
(4)  (Q)-(ID), (B)-(11I), (C)-(D), (D)-(IV)

Options :

92090689745. 1
92090689746. 2
92090689747. 3
92090689748. 4

Question Number : 38 Question Id : 92090622709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List [ with List 11 :

List 1 List II
(A) Speedy increase in the milk production (I} Green Revolution
(B) Increase in oil-seeds production (IT) White Revolution
(C) Increase in the fish production {II1) Yellow Revolution

(D) Increase in agricultural production by (IV) Blue Revolution
use of technology

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1D), (C)-(IL), (D)-(D)
(2)  (A)-(D), (B)-(I1D), (C)-(IV), (D)-(I)
(3) (A1), (B)«(ID), (C)-(IV), (D)-(D)
(4)  (A)-(II), (B)-(IIL), (C)-(I), (D)-(IV)

Options :

92090689749. 1
92090689750. 2
92090689751. 3
92090689752. 4

Question Number : 38 Question Id : 92090622709 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Al | & 91y = 1 BT e Sifse

- Tt -l
(A) T IdTed # ool 9 gfs () e wila
B) faeres Iaea i afs Iy %d wifd
(€ W Iae #afg ERIGE G
(D) WINPT & IUGH gRI (v) el ifg
2 L A | e |

413 feu o 9l @ 9 el IR &1 994 P

(1) (A)-(V), (B)-(LIT), (C)-(11), (D)-(1)
(2)  (A)-(ID), (B)-(I1D), (C)-(IV), (D)D)
(3)  (A)-(ID, (B)-(ID), (O)-1V), (D)-(0)
(4)  (A)-aD), (B)-(IID), (C)-(D), (D)-(IV)

Options :

92090689749. 1
92090689750. 2
92090689751. 3
92090689752. 4

Question Number : 39 Question Id : 92090622710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement :  Konkan Railway is a 760 km long rail route which connects Roha
in Maharashtra to Mangalore in Karnataka.

Statement 11 :  The state of Maharashtra, Karnataka, Gujrat and Tamil Nadu
are partners in the above undertaking

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3) Statement | is true but Statement 1[I is false

(4) Statement [ is false but Statement 11 is true

Options :

92090689753. 1
92090689754. 2
92090689755. 3
92090689756. 4

Question Number : 39 Question Id : 92090622710 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Py RumuE:
HY | : DipUl Yad 760 feHicy da1 U AP B, S HERIP ¥ g1
IR PAled & HIGR aP B SISdl ¢ |

HYF Il - IudH IUHH H HERIY, HACD, ToRId R dHa1g R ¢ |
IR HYA & Il H, A fau e fawedi & 9 |gl SR &1 994 ifoy

(1) BYF R FT

(2) YA AR 1 EHT 3T &

(3) YT U B, AlBT HY Il U 8
(4)  HYF | MUY 8, AP HYF 11 T B

Options :



92090689753. 1
92090689754. 2
92090689755. 3
92090689756. 4

Question Number : 40 Question Id : 92090622711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most expensive Indian painting sold in 1961 was painted by:

(1) M.F. Hussain (2) S.H. Raja
(3) V.5, Gaitonde (4) Raja Ravi Verma
Options :

92090689757. 1
92090689758. 2
92090689759. 3
92090689760. 4

Question Number : 40 Question Id : 92090622711 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1961 | fae! YT $t Haftie ag ufen =1 feous g o ur

(1) UH U, g4 (2) TH UL I
(3) ooy T (4) Tl IS ani
Options :

92090689757. 1
92090689758. 2
92090689759. 3
92090689760. 4

Question Number : 41 Question Id : 92090622712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Japan's former longest serving prime minister who was shot dead while giving a
compaign speech. His name was

(1) Yoshihide Suga (2) Fumio Kshida
(3 Shinzo Abe {(4) Naruhito
Options :

92090689761. 1
92090689762. 2
92090689763. 3
92090689764. 4

Question Number : 41 Question Id : 92090622712 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g H He @ UG d% YarE I8 U HEAl @1 a9 el AR o 1 &1 &1 T, o 98
Ueh A HTHAH H HIN0) & T8 & | 7ehT & A1H UT?

(1) AR gm (2) wHe fEen
(3) TR 3E (4) ArEfedl
Options :

92090689761. 1
92090689762. 2
92090689763. 3
92090689764. 4

Question Number : 42 Question Id : 92090622713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who received the latest 57t Jnanpith Award in 2022,

(1) Krishna Sabti (2) Damodar Mauzo
(3) Mulk Raj Anand (1) Shankar Ghosh
Options :

92090689765. 1
92090689766. 2
92090689767. 3
92090689768. 4



Question Number : 42 Question Id : 92090622713 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafed 7 9 ey 2022 # Fdi7ad 57 af IS REPR UIT g3i1 ur?

(1)  FOIHEd (2) arHIe Hell
(3) Heb I 3G (4) BT UMY
Options :

92090689765. 1
92090689766. 2
92090689767 3
92090689768. 4

Question Number : 43 Question Id : 92090622714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

India’s first bullet train will connect which two eities?

(1) Delhi-Agra {2) Delhi-Jaipur
(3) Mumbai-Ahmedabed (1) Mumbai-Pune
Options :

92090689769. 1
92090689770. 2
92090689771. 3
92090689772. 4

Question Number : 43 Question Id : 92090622714 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd B UYH gaie o [ 3 I8 &1 e
(1) faodt— o (2) el -saR
(3) HES - HSHIEG (4) Heag-qo

Options :



92090689769. 1
92090689770. 2
92090689771. 3
92090689772. 4

Question Number : 44 Question Id : 92090622715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Golden Quadrilateral’ is a major project taken up by NHAIL It comprises
construction of long 4/6 lane high density traffic corridor which connects

(1) New Delhi with Amritsar (Golden Temple)
(2) iolden temple with four big cities of Punjab
(3) India’s four big metro cities of Delhi-Mumbai-Chennai-Kolkata

(4) India’s four extreme states Jammu and Kashmir, Tamilnadu, Assam
and Gujarat

Options :

92090689773. 1
92090689774. 2
92090689775. 3
92090689776. 4

Question Number : 44 Question Id : 92090622715 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WU AU U WE UREIGH 8, W UL Td. U 315, §R1 YRR @1 71| 399 4/6 @A aral
3= 94 gTa/ld ®IveR &1 [Anfo afffed g, o oAl igar g7

(1) 8 feceft @ srgaeR (vl |ieR) & Ty

(2) vl AR P UeE $ IR 93 U S Y

(3) HRd P IR g3 0l Uedl - el jas-Jas - Sl S

(4) YR P IR G A — o1 Ud FUR, a8, SR SR TR &1
Options :
92090689773. 1
92090689774. 2

92090689775. 3
92090689776. 4



Question Number : 45 Question Id : 92090622716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the new youngest President of Chile?

(1) Jose Antanio Kast (2) BSalvador Allende
(3)  Gabriel Borie (4) Olaf Scholz
Options :

92090689777. 1
92090689778. 2
92090689779. 3
92090689780. 4

Question Number : 45 Question Id : 92090622716 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferefl & e ga1 -1u Apufd H &7

(1) o @ sRe (2) TSR 3cie
(3)  Tifsrge IR (4)  SfIEE Yee
Options :

92090689777. 1
92090689778. 2
92090689779. 3
92090689780. 4

Question Number : 46 Question Id : 92090622717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many number of layvers are in the open svstem interconnection (OSI) model?

(1 5 (2) 6
(1) 8 (4 7
Options :

92090689781. 1
92090689782. 2
92090689783. 3



92090689784. 4

Question Number : 46 Question Id : 92090622717 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 Ried Sevdaae (3. UY. 318) Aisd | uRd fha- 9= | g7

(15 (&) ©
(3) 8 (4) 7
Options :

92090689781. 1
92090689782. 2
92090689783. 3
92090689784. 4

Question Number : 47 Question Id : 92090622718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Workbook is a collection of*

(1) Page setup (2) Buttons
(3) Worksheets (4) Charts
Options :

92090689785. 1
92090689786. 2
92090689787 3
92090689788. 4

Question Number : 47 Question Id : 92090622718 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
adge b1 U TUE 87
(1) O de-3™ (2) ded
() dbdiey (4) TICH



Options :

92090689785. 1
92090689786. 2
92090689787. 3
92090689788. 4

Question Number : 48 Question Id : 92090622719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The default file format of MS Access 1s:

(1) .doe (2) .ppt
(3) xls (1) .mdb
Options :

92090689789. 1
92090689790. 2
92090689791. 3
92090689792. 4

Question Number : 48 Question Id : 92090622719 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH, Y. U &1 f3hiae Wisd Hitie Si4l &7

(1) .doc (2) .ppt
(3) xls (4) .mdb
Options :

92090689789. 1
92090689790. 2
92090689791. 3
92090689792. 4

Question Number : 49 Question Id : 92090622720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The data-storage capacity of DVD 1s:

(1) 2.5 GB (2) 700 MB
(3) 1.3 GB (40 4.7GB
Options :

92090689793. 1
92090689794. 2
92090689795. 3
92090689796. 4

Question Number : 49 Question Id : 92090622720 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31 d1. 31 1 321 LRl g b 82

(1) 2.5 GB (2) 700 GB
(3) 13 GB (4) 4.7 GB
Options :

92090689793. 1
92090689794. 2
92090689795. 3
92090689796. 4

Question Number : 50 Question Id : 92090622721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The contents written in requires continuous power supply to retain it
into the memory.

(1) Read Only Memory (ROM) (2) Random Access Drive (RAM)
(3) Hard Disk Drive (HDD) (4) Pen Drive
Options :

92090689797. 1
92090689798. 2
92090689799. 3
92090689800. 4



Question Number : 50 Question Id : 92090622721 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ fafad favgayg &1 @90 @ & fou PRaw feeedt emgfd

IS o

(1) 8 siidl 39 (ROM) (2) YSH URH HARNT (RAM)
(3) TS &% §Isd (HDD) (4) TUTS15d (Pen Drive)
Options :

92090689797. 1
92090689798. 2
92090689799. 3
92090689800. 4

Question Number : 51 Question Id : 92090622722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shorteut key used to close a tab 1s:

(1) Ctrl+qg (2) Ctri+k
(3 Ctrl+w () Ctrl+r
Options :

92090689801. 1
92090689802. 2
92090689803. 3
92090689804. 4

Question Number : 51 Question Id : 92090622722 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fohl 29 1 ailel XA W WAN 1 o1 drell Bl Uid-He H1 82

(1) Ctrl+q (2) Ctrl+k
(3) Ctrl+w (4) Ctrl+r
Options :

92090689801. 1
92090689802. 2



92090689803. 3
92090689804. 4

Question Number : 52 Question Id : 92090622723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following parameters 15 used to measure the performance of super
computer?

(1) GHz (2) MIPS
(3 FLOPS (4) Hz
Options :

92090689805. 1
92090689806. 2
92090689807. 3
92090689808. 4

Question Number : 52 Question Id : 92090622723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Fex & Fsres ot a & fee Fafafea # 3 e wmds &1 v g e g2

(1) GHz (2) MIPS
(3) FLOPS (4) H=z
Options :

92090689805. 1
92090689806. 2
92090689807. 3
92090689808. 4

Question Number : 53 Question Id : 92090622724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Webpages that are linked to form a website share a

(1) Uniform Domain Address (2) Unique Domain Address
(3) Uniform Domain Name (1) Unigque Domain Name
Options :

92090689809. 1
92090689810. 2
92090689811. 3
92090689812. 4

Question Number : 53 Question Id : 92090622724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U dauge & FAAfu & o fom Iauers &1 sfd:=uifud fara wiran g, 3 &1 91 $3d &2

(1) g% e ugy (2) e SHE TS
(3) gA®BH SEE A1 (4) gHS S A1
Options :

92090689809. 1
92090689810. 2
92090689811. 3
92090689812. 4

Question Number : 54 Question Id : 92090622725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MS Word provider the functionality of correction in grammer and spelling of words.
This functionality is known as:

(1) Grammerly (2) Auto Correct
(3)  Spell Check (1) High Fineation
Options :

92090689813. 1
92090689814. 2
92090689815. 3
92090689816. 4



Question Number : 54 Question Id : 92090622725 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH. U, 98 Tl SiR g+l & YUR & Saieiddl USH Sl ¢] 39 dieidd & bl
TH I ST ST 87

(1) UrHETE (2) el Hiae
(3) WAHED (4) BTS BISHTEE
Options :

92090689813. 1
92090689814. 2
92090689815. 3
92090689816. 4

Question Number : 55 Question Id : 92090622726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Software that manages and coordinates the entire activities of a computer system 1s
known as:

(1) Utility Software (2) Operating system
(3) System Software (4) Device driver
Options :

92090689817. 1
92090689818. 2
92090689819. 3
92090689820. 4

Question Number : 55 Question Id : 92090622726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U6 SR & QU FGaM] $1 Jae SR FHE S dd Sied®R @1 g 9 4
ST STl 82

(1) gfefad diteam? (2) STafeT e
(3) e wiwedm (4) fSagy gER
Options :

92090689817. 1
92090689818. 2
92090689819. 3
92090689820. 4

Question Number : 56 Question Id : 92090622727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At what time between 9o clock and 100 clock will the hour hand and the minute
hand of a clock be in the same straight line but not together?

(1) 9:15 o'clock (2) 9:16 o'clock
(3) 9:16 % o'clock (4) 9:16 % o'clock
Options :

92090689821. 1
92090689822. 2
92090689823. 3
92090689824. 4

Question Number : 56 Question Id : 92090622727 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 79l 3R 10 991 & o9 60 T9g 931 &1 62 &1 g3 a1 e &1 g3 0@ Wa &1 d gl
I U 1Y 817

(1) 91599 (2) 9:16 9
(3) 9:16 % G| (4) 9:16 % G|
Options :

92090689821. 1



92090689822 2
92090689823. 3
92090689824. 4

Question Number : 57 Question Id : 92090622728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What day of the week was on April 15, 19547

(1) Wednesday (2) Thursday
(3) Friday (4) Sunday
Options :

92090689825. 1
92090689826. 2
92090689827. 3
92090689828. 4

Question Number : 57 Question Id : 92090622728 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 15, 1954 H UTg &1 S A 91 o7 ur?

(1)  §HaR (2) TEWidaR
(3) YRR 4) EAR
Options :

92090689825. 1
92090689826. 2
92090689827. 3
92090689828. 4

Question Number : 58 Question Id : 92090622729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average of nine consecutive natural numbers is 25. Find the smallest number.

(1) 20 (2) 21
(3) 22 (4) 24
Options :

92090689829. 1
92090689830. 2
92090689831. 3
92090689832. 4

Question Number : 58 Question Id : 92090622729 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 HHRT Wighd HEI13fl BT Sfi9d 25 8 | a9 BIe] A1 Jid DIl |

(1) 20 2) 21
(3) 22 (4) 24
Options :

92090689829. 1
92090689830. 2
92090689831. 3
92090689832. 4

Question Number : 59 Question Id : 92090622730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

301 1
.
Slmphf}ﬁ
_+___
8 2 4
1 6
(1 @ =
{ 16 ) s
3 12 o =
20

Options :



92090689833. 1
92090689834. 2
92090689835. 3
92090689836. 4

Question Number : 59 Question Id : 92090622730 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- I
—— ————
T 4 5 10
= -
8 2 4
| 6
1 - 2) -
oz & 2
(3) 12 4y 2
20

Options :

92090689833. 1
92090689834. 2
92090689835. 3
92090689836. 4

Question Number : 60 Question Id : 92090622731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B is three times a old as A. After 5 years the ratio in the ages of A and Bwill be 1 : 2.
After how many yvears from now will the ratio in the ages of A and B become 2: 3 ?

(1) 16 ) 15
(3) 13 (4) 12
Options :

92090689837. 1
92090689838. 2
92090689839. 3
92090689840. 4

Question Number : 60 Question Id : 92090622731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

B, A ¥ CF AT 421 & | 5 I8 UHTd, A TYUT B 1 3G H SUId 1:2 81 | 3@ ¥ foba auf ugTd
A TYI B &1 3G H 3UTd 2:3 B ST

(1) 16 (2) 15
(3) 13 4) 12
Options :

92090689837. 1
92090689838. 2
92090689839. 3
92090689840. 4

Question Number : 61 Question Id : 92090622732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of two numbers is 4840. If the first number is two fifth of the second
number, then what is the first number?

(1) 110 (2) 38
(3) 14 (1) 154
Options :

92090689841. 1
92090689842. 2
92090689843. 3
92090689844. 4

Question Number : 61 Question Id : 92090622732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 HE13ff &1 U 4840 © | 3% gl I gudl Te &1 é YT & ol Ugdll S 1 82

(1 110 (2) 38
(3) 44 (4) 154

Options :



92090689841. 1
92090689842. 2
92090689843. 3
92090689844. 4

Question Number : 62 Question Id : 92090622733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In what time will a 640m long train cross an electric pole if its speed is 96km/h?

(1) 24 see (2) 54 sec
(3) 5.4 sec (4) 12.5 sec
Options :

92090689845. 1
92090689846. 2
92090689847. 3
92090689848. 4

Question Number : 62 Question Id : 92090622733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

640 m Tl ¢4, 96 km/h B TIid ¥ Fad gU faoiell & th GR & fbdd a9 | UR &
a7

(1) 24 sec (2) 54 sec
(3) 5.4 ser (4) 12.5 sec
Options :

92090689845. 1
92090689846. 2
92090689847. 3
92090689848. 4

Question Number : 63 Question Id : 92090622734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of two numbers 15 40 and their HCF 15 8. How many pairs of numbers
satisfy both the conditions?

(1) 1 (2) 2
(3) 3 (1) 4
Options :

92090689849. 1
92090689850. 2
92090689851. 3
92090689852. 4

Question Number : 63 Question Id : 92090622734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<1 TEA131 BT A1 40 § TUT 3I®1 HCF 8 § | U fdva W& g € o f3u gu g1 ufaael
&1 T HI @ ?

(m 1 2) 2
3) 3 (4 4
Options :

92090689849. 1
92090689850. 2
92090689851. 3
92090689852 4

Question Number : 64 Question Id : 92090622735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two numbers are 26% and 40% respectively of a third number what percentage is
the first number of the second number?

(1) 60% (2) 65%
(3) 66% (1) 68%
Options :

92090689853. 1
92090689854. 2
92090689855. 3



92090689856. 4

Question Number : 64 Question Id : 92090622735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l S|, Rl S B HHRE 26% a4l 40% § | Uedl e el wel @ feaa
Ufo=Ia g ?

(1)  60% (2) 65%
(3) 66% (4) 68%
Options :

92090689853. 1
92090689854. 2
92090689855. 3
92090689856. 4

Question Number : 65 Question Id : 92090622736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A trader sold an article at a gain of 20% Had he purchased it for 40% more and sold
for T 24 less, he would have incurred a loss of 20%. What is the cost price of the
article?

(1) ¥ 150 (2) T 300
(3) Z 450 (1) T600
Options :

92090689857. 1
92090689858. 2
92090689859. 3
92090689860. 4

Question Number : 65 Question Id : 92090622736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ud AR A U 9% 20% a4 R o1 | 9l 399 3 40% 3Mitid W @der giar 3R 224
&0 R 941 gial dl 39 20% B 85 aldl | 39 a%q &I o4 Hed 1 87

(1) T150 (2) %300
(3) T 450 (4) T 600
Options :

92090689857. 1
92090689858. 2
92090689859. 3
92090689860. 4

Question Number : 66 Question Id : 92090622737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Akhilesh and Javed started a business by investing T 50,000 and T 60,000
respectively. Akhilesh being an active partner receives 12.5% of the profit in
addition to his share of profit. How much Akhilesh gets out of a profit of T 83007

(1) T 4,600 (2) T 4.500
(3) T 4,000 (4) 5,100
Options :

92090689861. 1
92090689862. 2
92090689863. 3
92090689864. 4

Question Number : 66 Question Id : 92090622737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR qUT S1dg A SHH: 350,000 YT 260,000 & Y & HY AUR L by | sifadw
Tihd YRIER 8 & SR 1Y H 30 TR & 91y P a1 I 12.5% fdRe of ran
T | 28,800 & o1y 1 SHfEe fdra=1 U Far g2

(1) T 4600 (2) T4500
(3) T 4000 (4) T 5100
Options :

92090689861. 1



92090689862. 2
92090689863. 3
92090689864. 4

Question Number : 67 Question Id : 92090622738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money on simple interest amounts to ¥ 1.278 in 3 years and to
¥ 1,593 in 5 % years. Find the rate of interest per annum.

(1) 13% (2) 14%
(3) 15.5% (4) 16%
Options :

92090689865. 1
92090689866. 2
92090689867. 3
92090689868. 4

Question Number : 67 Question Id : 92090622738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wwﬁlﬂq@wﬁaaﬁﬁwmﬂws% a9 7 21593 g1 9l ¢ | At =1 R
1 BIfor |

3% (2) 14%
5.5% (4) 16%

Options :

92090689865. 1
92090689866. 2
92090689867. 3
92090689868. 4

Question Number : 68 Question Id : 92090622739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the sum of the fourth proportional of 60, 24, 15 and the mean proportional of
5 and 20.

(1) 47.5 (2) 16
(3) 106 (4) 116
Options :

92090689869. 1
92090689870. 2
92090689871. 3
92090689872. 4

Question Number : 68 Question Id : 92090622739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

60, 24, 15 &1 IgUTUT 4T 5 3R 20 & AU &1 TP FTd BT |

(1) 47.5 (2) 16
(3) 106 (4) 116
Options :

92090689869. 1
92090689870. 2
92090689871. 3
92090689872. 4

Question Number : 69 Question Id : 92090622740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Akhil is two times as efficient as Vinod and Kamal i1s three time as efficient as Vinod.
They worked together and received T 5,700 for doing the work. Find the share of
Kamal in the money received.

(1) ¥ 1800 (2) T 1900
(:3) T 2580 (4) %2350
Options :

92090689873. 1
92090689874. 2
92090689875. 3
92090689876. 4



Question Number : 69 Question Id : 92090622740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 @t el [a-1g &1 &l @1 gl ¢ 9Ul HHA D1 & fag & &Fd &1 aH T & |
3611 Ud WY 1 631 3R &1 & & 15700 UK U | U e-RIf & Sua &1 e

FTd Pifore?

(1) T 1800 (2) ¥1900
(3) T 2580 (4) T 2850
Options :

92090689873. 1
92090689874. 2
92090689875. 3
92090689876. 4

Question Number : 70 Question Id : 92090622741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pipes A and B can fill a tank in 25 hours and 10 hours respectively. Pipe A was
opened and after half an hour pipe B was also opened. In how much time the tank
got filled?

(1) 7 hours 10 minutes {2) 7 hours 15 minutes
(3) 7 hours 30 minutes (4) 7 hours 45 minutes
Options :

92090689877. 1
92090689878. 2
92090689879. 3
92090689880. 4

Question Number : 70 Question Id : 92090622741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



urgy A OYT B U Tl &I AT 25 U2 ayl 10 9 H 4R "l ¢ | UISU A &I Tral 747 3R
ISP 1Y ¢ d1g Ursy B Hi Wid &1 715 | o g # ) WS 2

(1) 7€ 10 e (2) 7415 e
(3) 74He30fAEe (4) 7He 45 e
Options :

92090689877. 1
92090689878. 2
92090689879. 3
92090689880. 4

Question Number : 71 Question Id : 92090622742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three boys A, B and C are running with speeds 40 m/s, 2500 m/minute and 144 km/h
respectively, then

(1) A and C have same speed which is less than the speed of B

(2) Speed of B 1s the highest

(3) Speed of C is more than the speed of B

(1)  All the boys A, B, and C have equal speeds

Choose the correct answer from the options given below :

(1) (A) & (C) Only

(2)  (A) & (B) Only

(3) (D) Only

() (A), (B) & (C) Only

Options :

92090689881. 1
92090689882. 2
92090689883. 3
92090689884. 4

Question Number : 71 Question Id : 92090622742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 8% A, B GYUI C SH: 40 m/s, 2500 m/BHE T4 144 km/h B A A W E,
A ATNICH MdRR gl fFepmfaATA

B. B®ITM MftmaH g

C. Cai7fd, @l ia ¥ sftis g

D. W TSHI A, B TUC B i TG &

19 fRu T fasedl # ¥ 9el I &1 99 Hifort :

(1) dd ATYUIC

(2) hdd ATYUTB

(3) &dd D

(4) &9ad A, B, AUIC

Options :

92090689881. 1
92090689882. 2
92090689883. 3
92090689884. 4

Question Number : 72 Question Id : 92090622743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man invests some money partly in 8% stock at 105 and partly in 12%., stock at 90).
In what ratio should he invest the money to have equal dividends?

(1) 3:2 (2) 97
(3) T:d {(4) 2:3
Options :

92090689885. 1
92090689886. 2
92090689887. 3
92090689888. 4

Question Number : 72 Question Id : 92090622743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ueh Al Y=RIR BT FS oY 8% Vi 105 W U1 S 2 12% wid 90 W 3% a1 g
I 4RI &1 g ofgurd | Fafg S 91fev e 39 arer arqiw fa?

(1) 3:2 (2} 87
(3) T4 (4) 2:3
Options :

92090689885. 1
92090689886. 2
92090689887. 3
92090689888. 4

Question Number : 73 Question Id : 92090622744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A dealer marked an item with cost price Re.600 at 50% above the cost price and
offered 20% discount. Find the selling price.

(1) Rs.480 (2) Rs.600
(3 Rs.720 (4) Rs.800
Options :

92090689889. 1
92090689890. 2
92090689891. 3
92090689892. 4

Question Number : 73 Question Id : 92090622744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faghdl U a¥g o1 %8 4l 2 600 & &1 $0 Jed ¥ 50% 3@ W 3ifdsd &l g 3R
20% w51 &l 8| fashy geg 71d Sifed|

(1) T 480 (2) T 600
(3) 3720 (1) T 800
Options :

92090689889. 1
92090689890. 2



92090689891. 3
92090689892. 4

Question Number : 74 Question Id : 92090622745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the figure, ZAOC = 42" and PQ 15 perpendicular to CD. Find the value of x.
A D

C B

(1) 158 (2) 138
(3 132 (1) 118
Options :

92090689893. 1
92090689894. 2
92090689895. 3
92090689896. 4

Question Number : 74 Question Id : 92090622745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hpid B, ~AOC = 42° QYT PQ, CD R & g | » o1 HH Fid Hifory |

A D

c B

(1) 158 (2) 138
(3) 132 (4) 118
Options :

92090689893. 1



92090689894. 2
92090689895. 3
92090689896. 4

Question Number : 75 Question Id : 92090622746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
The value of w % (l ~sin” 4’?] 15
1+cot™ @
1 1
(1) . 2) .
goe” cosec &
(3) tan> @ {4} cot” 0

Options :

92090689897. 1
92090689898. 2
92090689899. 3
92090689900. 4

Question Number : 75 Question Id : 92090622746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
1+tan 0 (1-sinZ0) STHAAE
1+cot™ @
| 1
(1) 5 B ——-
sec” # cosec d
(3) tan®® (4) cot®@
Options :

92090689897. 1
92090689898. 2
92090689899. 3
92090689900. 4

Question Number : 76 Question Id : 92090622747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fA={23.6land B=1{2 3, 4,5, 6} are two sets, then

(A) AcB (B) AUB=B
(C) AnB=¢ (D) AnB=A

Choose the correct answer from the options given below :

(1)  (A) & (B) Only
(2) (B) & (C) Only
(3) (A, (B) & (D) Only
(4)  (B) & (D) Only

Options :

92090689901. 1
92090689902. 2
92090689903. 3
92090689904. 4

Question Number : 76 Question Id : 92090622747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfg A={2,36)dY B=1{234506} 3 Gg=U§

{A) Ac B (B) AuB=8B
(C) AnB=¢ (D) AnB=A

Choose the correct answer from the options given below :

(1) dd ATYIB
(2) HAABTAUIC
(3) HAdA BTYUID
(1) HAABTYUID

Options :

92090689901. 1
92090689902. 2
92090689903. 3
92090689904. 4



Question Number : 77 Question Id : 92090622748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If meanof 7, 2, 9, 4 and K is 5, then find the median of 12, 6, K, 9, 15

(1) 6 (2) 9
(3 10 (49 12
Options :

92090689905. 1
92090689906. 2
92090689907. 3
92090689908. 4

Question Number : 77 Question Id : 92090622748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af2 7, 2,9 AU K FTHARE 58, a1 12, 6, K 9, 15 HT AP F1d Hifaiw|

(1 6 2) 9
(3) 10 (4) 12
Options :

92090689905. 1
92090689906. 2
92090689907. 3
92090689908. 4

Question Number : 78 Question Id : 92090622749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Solution A Contains 12% water and the remaining is milk. Solution B contains 30%
water and the remaining 1s milk. In what ratio should selutions A and B be mixed to
obtain a mixture with 84% milk?

(1)  2:7 (2) 7.2
(3)  3:8 (4) 83

Options :



92090689909. 1
92090689910. 2
92090689911. 3
92090689912. 4

Question Number : 78 Question Id : 92090622749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hrd A T 12% Ul U1 99 Y 8 | 91d B § 30% U U1 A9 g & | Oid A a1 B &I fhd
3{urd # fordmar Sie & Yo § 84% gy g2

(1) > | (2) T:2
(3) 3:8 (1) &3
Options :

92090689909. 1
92090689910. 2
92090689911. 3
92090689912. 4

Question Number : 79 Question Id : 92090622750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A quadrilateral ABCD has diagonal AC of length 28 em. If the perpendiculars drawn
from vertices B and D to AC are 30 em and 21 em respectively, then find its area.

(1) 1428 em? (2) 357.5 cm?
(3) 7105 em® (4) 714 em®
Options :

92090689913. 1
92090689914. 2
92090689915. 3
92090689916. 4

Question Number : 79 Question Id : 92090622750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U dq2iel ABCD & fadul AC &1 TaTs 28 cm ¢ | 4fS ST B 94T D ¥ AC |R STdl U &id
SHHL: 30 cm TYUT1 21 cm B, T SHST &EHd F1d i |

(1) 1428 em* (2) 357.5 em?
(3) 710.5 em* (4) 714 em*
Options :

92090689913. 1
92090689914. 2
92090689915. 3
92090689916. 4

Question Number : 80 Question Id : 92090622751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vessel is in the form of a hemispherical bowl surmounted by a hollow eylinder. The
diameter of the sphere 1s 42 ¢em and the height of the vessel 15 27 em. Find its

- . 22
capacity in cm®, (Use 7= -_}[—]l

(1) 18849.6 (2) 56826
(3) 27720 (1) 56286
Options :

92090689917. 1
92090689918. 2
92090689919. 3
92090689920. 4

Question Number : 80 Question Id : 92090622751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U G0 ©l HSTNATDR HER & DR Bl 8, $ HUR U WiEdl 9o 1 § | Td &1 O™

42 cm & TUT 99 P HAE 27 cm &1 38! 4Rl cm? H F1d BifoU| w:‘z—f)

(1) 18849.6 (2) 56826
(3) 27720 (4) 56286

Options :



92090689917. 1
92090689918. 2
92090689919. 3
92090689920. 4

Question Number : 81 Question Id : 92090622752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next term of the given series : 2. 12, 36, 80, 150

(1) 250 (2) 252
(3) 239 (4) 159
Options :

92090689921. 1
92090689922 2
92090689923. 3
92090689924 4

Question Number : 81 Question Id : 92090622752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 &1 71 YRaT FT ST U 1 Do ;

2,12, 36, 80, 150.......

(1) 250 (2) 252

(3) 239 (4) 159
Options :

92090689921. 1
92090689922 2
92090689923. 3
92090689924. 4

Question Number : 82 Question Id : 92090622753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a competition Alka ranks 11 from the top and 27th from the bottom while
Anamika ranks 14t from the top. How many candidates have their names listed
below Anamika’s in that competition’s result?

(1) 25 (2) 29
(3) 26 (49 23
Options :

92090689925. 1
92090689926. 2
92090689927. 3
92090689928. 4

Question Number : 82 Question Id : 92090622753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UGIfTar & @] & v 2N | 11 § WM &R A1 I 27 § ™A R &, Fafd st
&1 ¥ 2 F 14 d A R A | 39 ufadifar & oot O sFifiet & R fas Iufieard

FINGEES T |

(1) 25 (2) 29
(3) 26 (1) 23
Options :

92090689925. 1
92090689926. 2
92090689927. 3
92090689928. 4

Question Number : 83 Question Id : 92090622754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Six friends A, B, C, D, E and F are sitting in a row facing towards North. C is sitting
between A and E . D 15 not at the end. B is sitting immediate right to E. F is not at
the right end. How many persons are there to the right of D?

(1) 2 (2) 3
(3) 1 (4) 4

Options :



92090689929. 1
92090689930. 2
92090689931. 3
92090689932 4

Question Number : 83 Question Id : 92090622754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Se A B CDERFIG U ATRRMF IHATE GUE | C, A 3R EF &9 d931
BB |DIHAAE | B EFAAGC AN A IS | FER YA T | Ao F @ A
fdra aafad 82

(1 2 (2) 3
3 1 (4 4
Options :

92090689929. 1
92090689930. 2
92090689931. 3
92090689932. 4

Question Number : 84 Question Id : 92090622755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bharti travelled 19 km to the East. She turned left and went 15 km. She again
turned left and went 19 km. How far she is from the initial position?

(1) 14 km (2) 15 km
() 19 km (4) 18 km
Options :

92090689933. 1
92090689934. 2
92090689935. 3
92090689936. 4

Question Number : 84 Question Id : 92090622755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR IR B 3R 19 &l B g Sl 8 | 98 918 3R g8l & iR 15 [l a& ordl g1
98 UH: 918 3R gadt 8 3R 19 .. 51l 81 3id 98 sRffe wH 3§ fPaii @ &2

(1) 14 fel (2) 15 AL
(3) 19 fHH (4) 18 fopuil.
Options :

92090689933. 1
92090689934. 2
92090689935. 3
92090689936. 4

Question Number : 85 Question Id : 92090622756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the images A to D 18 next in the sequence (in place of?)?

A A ] O

O A A ] "

] O A A

A ] S A -

A B C D

A ] A ]

] A O A

O A ] A

A O A O

(1) A (2) B
(3) C (4) D

Options :

92090689937. 1
92090689938. 2
92090689939. 3
92090689940. 4

Question Number : 85 Question Id : 92090622756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A ¥ D 0% B BI! Bfadl HH | -Tgl 87
A FN ] @

O A A ] g
] O A A

A ] O A

pOLP >
Obpo=
»LIOP o
Opk[o

—~—
—
o

A (2) B
3 C (4) D

Options :

92090689937. 1
92090689938. 2
92090689939. 3
92090689940. 4

Question Number : 86 Question Id : 92090622757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Study the following five numbers and answer the question given below : 617 425 739
941 892. What will be the first digit of the second highest number after the positions
of only the second and the third digits within each number are interchanged?

(1) 6 (2) 2
(3) 9 (4) 8
Options :

92090689941. 1
92090689942. 2
92090689943. 3
92090689944. 4



Question Number : 86 Question Id : 92090622757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad dsmaf &1 sreqgs i SR - fau U vy &1 Iw e

617 425 739 941 892

Td® e § dad [Gdlg o SR g oie @1 yfadl 1 ReR - 904 & 918 fgdi™
I=aH HEI &1 UYH 3id 1 grm?

(1) 6 (2) 2
3 9 (4 8
Options :

92090689941. 1
92090689942. 2
92090689943. 3
92090689944. 4

Question Number : 87 Question Id : 92090622758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the related number from the given alternative : 14 : 8:24: 7

(1) 1Z (2) 13
(3) 14 (4) 15
Options :

92090689945. 1
92090689946. 2
92090689947. 3
92090689948. 4

Question Number : 87 Question Id : 92090622758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G Y1 J1d SIS
14:8:24:2?

(1) 12 (2) 13
(3) 14 (4) 15

Options :

92090689945. 1
92090689946. 2
92090689947. 3
92090689948. 4

Question Number : 88 Question Id : 92090622759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code ‘I work hard’ is coded as ‘kom pe seet’, ‘work is worship’ is coded as
‘pun te seet’ and ‘T workship God' is coded as ‘pun pan pe’. What 1s the code of ‘hard™

(1) pe (2) kom
(3) seet (4) pun
Options :

92090689949. 1
92090689950. 2
92090689951. 3
92090689952 4

Question Number : 88 Question Id : 92090622759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

17 Hiaug G H 'l work hard FI - kom pe seet’ T ETH Pldg fear T % ‘work is
worship’ @I ‘pun te seet’ & ¥ H Pldx o T § SR 1 workship God &1 ‘pun pan
pe' & ¥Y T Heag (BT 71 g *hard’ T F1 BT 87

(1) pe (2) kom
(3) sepet (4) pun
Options :

92090689949. 1
92090689950. 2



92090689951. 3
92090689952. 4

Question Number : 89 Question Id : 92090622760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing towards Ram, Sita says that he 1s the son of my hushand’s father-in-law's
wife. How is Ram related to Sita?

(1) Brother (2) Brother-in-law
(3) Son (4) Son-in-law
Options :

92090689953. 1
92090689954. 2
92090689955. 3
92090689956. 4

Question Number : 89 Question Id : 92090622760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I P 3R Hbd S gU Hidl 3 Hgl fb a8 I Ul & Blex-34-dl & Uell &1 T 81 IH
e & $ i 82

(1) g (2) FeR-gA-ql
(3) W (4) -39
Options :

92090689953. 1
92090689954. 2
92090689955. 3
92090689956. 4

Question Number : 90 Question Id : 92090622761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many persons do not take tea and coffee but take green tea?

/—i\_ ——> Persons who take tea

10 25
20 / 17 {15\ 30 } 40 O —> Persons who take coffee
7 20
20 [ 1 — Persons who take Green tea
(1) 20 (2) 60
(3) 70 (4) 90

Options :

92090689957. 1
92090689958. 2
92090689959. 3
92090689960. 4

Question Number : 90 Question Id : 92090622761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

/N —> T H EE F 9 e

10 25

20 /17 [15\ 30 | 40 () —> #iwte e w1 a0 o
-\20

20 [ — 4IH € %1 da &3 arl e

fpa =afda =Ty 3R HIH! &1 Uad 98] S &, Afcp U &1 1 Jd9 HId 87

(1) 20 (2) 60
(3) 70 (4) 90
Options :

92090689957. 1
92090689958. 2
92090689959. 3
92090689960. 4

Question Number : 91 Question Id : 92090622762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain code, TEACHER 1s written as WHDFKHU. In the same system of
coding, what should be the code for the word STATEMENT?

(1) VWDWHPHQW (2) VWEWHPHQW
(3) WVWDHPHQV (1) VWWDHPQHW
Options :

92090689961. 1
92090689962. 2
92090689963. 3
92090689964. 4

Question Number : 91 Question Id : 92090622762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ®fdud @2 § TEACHER & WHDFKHU & &4 ¥ o1 Sl 81 $edgal @ 341
JUITell § Weg — STATEMENT &1 &1 &¢ g1 A1igu?

(1) VWDWHPHQW (2) VWEWHPHQW
(3) WVWDHPHQV (4) VWWDHPQHW
Options :

92090689961. 1
92090689962. 2
92090689963. 3
92090689964. 4

Question Number : 92 Question Id : 92090622763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Birds : Ornithology : : Fish :

(1) Ichthyology (2) Hermitology
(3) Helminthology (1) Kalology
Options :

92090689965. 1
92090689966. 2



92090689967. 3
92090689968. 4

Question Number : 92 Question Id : 92090622763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qeft: B GIE| (Ornithology) : : "l

(1 Hel] ﬁm{lchthyulc}gﬂ (2) Eiﬁélﬁuﬁﬂ (Hermitology)
(3) ef@Au@sl (Helminthology) (4) el (Kalology)
Options :

92090689965. 1
92090689966. 2
92090689967. 3
92090689968. 4

Question Number : 93 Question Id : 92090622764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If § means ‘plus (+). # means ‘minus (-), @ means ‘multiplied (x) and * means
‘divided (=), then the value of 4654@5#72*8 is :

(1)
(3)

n

9 (2) 55
{] (1) 66

tn

Options :

92090689969. 1
92090689970. 2
92090689971. 3
92090689972. 4

Question Number : 93 Question Id : 92090622764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g § BT 34 AT (+), # BT Y °T (1), @ BT Y A (x) 3R * &1 o AUGH (0 T @
46$4@5#72* 8P HA HT 87

(1) 59 (2) 55
(3) 57 (1) 66
Options :

92090689969. 1
92090689970. 2
92090689971. 3
92090689972. 4

Question Number : 94 Question Id : 92090622765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Funk : Vitamin : Curie:?

(1) Uranium (2) Radium
(3)  Radioactivity (1) Photography
Options :

92090689973. 1
92090689974. 2
92090689975. 3
92090689976. 4

Question Number : 94 Question Id : 92090622765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eﬁzﬁﬂu:ﬁaﬁq::ﬁa@: ?

(1) gEIe (2) sTw
(3) AEgruffar (4) BICHTH!
Options :

92090689973. 1
92090689974. 2
92090689975. 3
92090689976. 4



Question Number : 95 Question Id : 92090622766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If January 1, 2005 was Monday, what was the day on January 1, 20097

(1) Friday (2) Saturday
(3 Sunday (4) Monday
Options :

92090689977. 1
92090689978. 2
92090689979. 3
92090689980. 4

Question Number : 95 Question Id : 92090622766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 1 Fa, 2005 B AHAR 4T A 1 G, 2009 B DHFHT 37 41?2

(1) YepdRR 2) WFAER
(3) @Er (4) HHAR
Options :

92090689977. 1
92090689978. 2
92090689979. 3
92090689980. 4

Question Number : 96 Question Id : 92090622767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Trace out the Figure which contains fig (x) as its part.

fig (x)
= Wl
Py ~
(1) (2) (3) (4)
() 1 (20 2
(3) 3 (4) 4

Options :

92090689981. 1
92090689982. 2
92090689983. 3
92090689984. 4

Question Number : 96 Question Id : 92090622767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofafed & 4 39 siefa &1 gar sy, 5y 38& o & T4 1 o$fd (x) Gifed 82

=

— > —{ﬂ
—— U | o—
= ~

(1) (2) (3) (4)

(1 1 (2) 2

(3 3 (4) 4

Options :



92090689981. 1
92090689982. 2
92090689983. 3
92090689984. 4

Question Number : 97 Question Id : 92090622768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the next term of the given number series : 0, 2, 5, 7, 14, 26, 47, ?

(1) 83 (2) 85
(3) 87 (1) 89
Options :

92090689985. 1
92090689986. 2
92090689987. 3
92090689988. 4

Question Number : 97 Question Id : 92090622768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e &t 77 3i@ YT B ST Ue 41 82
0,2,5,7, 14, 26, 47
(1) 83 (2) 85
(3) 87 (1) 89
Options :

92090689985. 1
92090689986. 2
92090689987. 3
92090689988. 4

Question Number : 98 Question Id : 92090622769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one from the four answer figures should come at the right of the problem
figures to complete the series logically?

0| @ @I{BINK

Problem figures

(1) O

(3)

' [©
>

Options :

92090689989. 1
92090689990. 2
92090689991. 3
92090689992. 4

Question Number : 98 Question Id : 92090622769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 49 &I diftbd ¥ Y qU B & fou Fafafed 7 § St gor-snela, swar-snsid
& 15 SR 3 =fRE?

0|©|0)|®|A\

(1)

©
@ @ @) O

Options :

92090689989. 1
92090689990. 2
92090689991. 3
92090689992. 4

Question Number : 99 Question Id : 92090622770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Conclusion follows on the basis of given statement :

Statement :  The ABC Engineering College has started a cell which will conduct
counselling workshops in the field of stress management to students
and faculties.

Conclusions : 1. The college has needed resources to start such activity.

I1. Students and faculties feel a need to have such cell in the college.

(1) If only Conelusion 1 follows
(2) If only Conclusion 11 follows
(3) If both I and II follows

(4) If either I or I follows



Options :

92090689993. 1
92090689994. 2
92090689995. 3
92090689996. 4

Question Number : 99 Question Id : 92090622770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S Feepy i fu 17U SR WR ureH dT 87

HYF:  ABC Sull-afi dlda 3 UHIg Y [ g, off enfial ok Riee-atf a9
& TG YaeH & & § IR &4 & o Srd=man? i S|

e 1. 39 Slod & U IURIGd HRIGA B B & [T 1 ags g |
frerd | el ofR hhed sl il H 3U WHR & UdHTE B SMavddhdl Hegd &d g |
1. &ad [A=py | Adad g1

2. &ad sy || gl g1

3. s | o 11 ST e B

4. TAspd | SR 11 1 H 9 B3 ot e fAaar 81

Options :

92090689993. 1
92090689994. 2
92090689995. 3
92090689996. 4

Question Number : 100 Question Id : 92090622771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the Cube which will be formed on folding the question figure:

(")

VAR

() (B) (C) (D)

(1) (A) & (C) Only
(2)  (A) & (B) Only
() (C) & (D) Only
(4)  (B) & (D) Only

Options :

92090689997. 1
92090689998. 2
92090689999. 3
92090690000. 4

Question Number : 100 Question Id : 92090622771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faedl & ¥ U9 &1 997 B Sl UY THid B HIgH § Ui gm|

(4)

FHIA A R C
&dd A SR B
&dd C 3R D
&qd B SR D

Options :

92090689997. 1
92090689998. 2
92090689999. 3
92090690000. 4

(X)
(A) (B) (©) (D)



